

Available online at http://scik.org
J. Math. Comput. Sci. 2 (2012), No. 4, 836-846

ISSN: 1927-5307

# COEFFICIENT INEQUALITIES FOR CERTAIN CLASSES OF MULTIVALENT FUNCTIONS OF COMPLEX ORDER DEFINED BY MULTIPLIER OPERATOR 

AMJAD S. BARHAM*

Department of Mathematics and Computer Science, Palestine Polytechnic University, Hebron, Palestine


#### Abstract

In this paper, we first define the multiplier operator $\mathcal{J}_{c, p, \lambda}^{m, \delta}$ in terms of Komatu integral operator. Then we define new classes of $p$-valent starlike and convex functions with complex order. The main object is to obtain coefficient inequalities for functions belonging to the newly defined classes. Also we get coefficient inequalities for functions in certain subclass satisfying a nonhomogeneous Cauchy-Euler differential equation. Several particular results (known or new) of the main theorems are mentioned.


Keywords: Multivalent functions, Komatu integral operator, nonhomogeneous Cauchy-Euler differential equation, coefficient inequalities.

2000 AMS Subject Classification: 30C45; 33C20.

## 1. Introduction

Let $\mathcal{A}(p, n)$ be the class of functions $f(z)$ of the form

$$
\begin{equation*}
f(z)=z^{p}+\sum_{k=p+n}^{\infty} a_{k} z^{k}(p, n \in \mathbb{N}) \tag{1}
\end{equation*}
$$

[^0]Received February 9, 2012
that are analytic and $p$-valent in the open unit disk $\mathcal{U}=\{z: z \in \mathbb{C},|z|<1\}$

The generalized Komatu integral operatot $\mathcal{K}_{c, p}^{\delta}: \mathcal{A}(p, n) \rightarrow \mathcal{A}(p, n)$ is defined for $\delta>0$ and $c>-p$ as

$$
\begin{equation*}
\mathcal{K}_{c, p}^{\delta} f(z)=\frac{(c+p)^{\delta}}{\Gamma(\delta) z^{c}} \int_{0}^{z} t^{c-1}\left(\log \frac{z}{t}\right)^{\delta-1} f(t) d t \tag{2}
\end{equation*}
$$

and $\mathcal{K}_{c, p}^{0} f(z)=f(z)$.
For $f(z) \in \mathcal{A}(p, n)$, it can be easily verified that

$$
\begin{equation*}
\mathcal{K}_{c, p}^{\delta} f(z)=z^{p}+\sum_{k=p+n}^{\infty}\left(\frac{c+p}{c+k}\right)^{\delta} a_{k} z^{k} \tag{3}
\end{equation*}
$$

Now, in terms of $\mathcal{K}_{c, p}^{\delta}$, we introduce the linear multiplier operator $\mathcal{J}_{c, p, \lambda}^{m, \delta}: \mathcal{A}(p, n) \rightarrow$ $\mathcal{A}(p, n)$ as follows:

$$
\begin{align*}
\mathcal{J}_{c, p, \lambda}^{0,0} f(z) & =f(z) \\
\mathcal{J}_{c, p, \lambda}^{1, \delta} f(z) & =(1-\lambda) \mathcal{K}_{c, p}^{\delta} f(z)+\frac{\lambda z}{p}\left(\mathcal{K}_{c, p}^{\delta} f(z)\right)^{\prime}=\mathcal{J}_{c, p, \lambda}^{\delta} f(z) \\
\mathcal{J}_{c, p, \lambda}^{2, \delta} f(z) & =\mathcal{J}_{c, p, \lambda}^{\delta}\left(\mathcal{J}_{c, p, \lambda}^{1, \delta} f(z)\right) \tag{4}
\end{align*}
$$

$$
\mathcal{J}_{c, p, \lambda}^{m, \delta} f(z)=\mathcal{J}_{c, p, \lambda}^{\delta}\left(\mathcal{J}_{c, p, \lambda}^{m-1, \delta} f(z)\right)
$$

for $\delta>0, c>-p, \lambda \geq 0$ and $m \in \mathbb{N}$.

If $f \in \mathcal{A}(p, n)$ is given by (1), then making use of (3) and (4) we conclude that

$$
\begin{equation*}
\mathcal{J}_{c, p, \lambda}^{m, \delta} f(z)=z^{p}+\sum_{k=p+n}^{\infty} B_{k, m}(c, p, \lambda, \delta) a_{k} z^{k} \tag{5}
\end{equation*}
$$

where

$$
\begin{equation*}
B_{k, m}(c, p, \lambda, \delta)=\left[\left(\frac{c+p}{c+k}\right)^{\delta}\left(1+\frac{\lambda}{p}(k-p)\right)\right]^{m} \tag{6}
\end{equation*}
$$

Now if $f(z), g(z) \in \mathcal{A}(p, n)$, where $g(z)=z^{p}+\sum_{k=p+n}^{\infty} b_{k} z^{k}$, then the Hadamard product (or convolution) is defined as

$$
\begin{equation*}
f(z) * g(z)=z^{p}+\sum_{k=p+n}^{\infty} a_{k} b_{k} z^{k} \tag{7}
\end{equation*}
$$

It can be easily verified that

$$
\begin{aligned}
& \text { (i) } z\left(\mathcal{J}_{c, p, \lambda}^{m, \delta} f(z)\right)^{\prime}=(c+p) \mathcal{J}_{c, p, \lambda}^{m, \delta-\frac{1}{m}} f(z)-c \mathcal{J}_{c, p, \lambda}^{m, \delta} f(z) \\
& \text { (ii) } \mathcal{J}_{c, p, \lambda}^{m+1, \delta} f(z)=\mathcal{J}_{c, p, \lambda}^{m, \delta} f(z) * \mathcal{J}_{c, p, \lambda}^{\delta} f(z), \\
& \text { (iii) } \mathcal{J}_{c, p, \lambda}^{m, \delta+1} f(z)=\mathcal{J}_{c, p, \lambda}^{m, \delta} f(z) * \mathcal{K}_{c, p}^{m} f(z)
\end{aligned}
$$

and

$$
\text { (iv) } \mathcal{J}_{c, p, \lambda}^{m, \delta} f(z)=\underbrace{[\varphi(z) * \ldots * \varphi(z)]}_{m-\text { times }} * \mathcal{K}_{c, p}^{\delta m} f(z)
$$

where

$$
\varphi(z)=z^{p}\left[1+\left(1+\frac{\lambda}{p}(n-1)\right) \frac{z^{n}}{1-z}+\frac{\lambda}{p} \frac{z^{n}}{(1-z)^{2}}\right]
$$

Remark 1:
(i) $\mathcal{J}_{c, p, 0}^{1, \delta} \equiv \mathcal{K}_{c, p}^{\delta}$ which is the generalized Komatu integral operator [8]
(ii) $\mathcal{J}_{c, 1,0}^{1, \delta} \equiv \mathcal{P}_{c}^{\delta}$ which is the integral operator studied by Komatu [9] and Raina and Bapna [11]
(iii) $\mathcal{J}_{1, p, 0}^{1, \delta} \equiv \mathcal{I}_{p}^{\delta}$ which is the integral operator studied by Shams et al. [13] and Ebadian et al. [6]
(iv) $\mathcal{J}_{c, 1,0}^{1,1} \equiv \mathcal{L}_{c}$ which is the Bernardi-Libra-Livingston integral operator [3]
(v) $\mathcal{J}_{1,1,0}^{1, \delta} \equiv \mathcal{I}^{\delta}$ which is the integral operator studied by Ebadian and Najafzadeh [5].
(vi) $\mathcal{J}_{c, 1, \lambda}^{m, 0} \equiv \mathcal{D}_{\lambda}^{m}$ which is the generalized Sălăgean operator studied by Al-Oboudi [1].
(vii) $\mathcal{J}_{c, 1,0}^{m, 0} \equiv \mathcal{D}^{m}$ which is the Sălăgean operator [12].

Now, we define the class $\mathcal{S}_{c, \lambda}^{m, \delta}(\beta, b, p, n)$ for functions $f \in \mathcal{A}(p, n)$ satisfying

$$
\begin{equation*}
\operatorname{Re}\left\{1+\frac{1}{b}\left(\frac{1}{p} \frac{z\left(\mathcal{J}_{c, p, \lambda}^{m, \delta} f(z)\right)^{\prime}}{\mathcal{J}_{c, p, \lambda}^{m, \delta} f(z)}-1\right)\right\}>\beta \tag{8}
\end{equation*}
$$

and the class $\mathcal{V}_{c, \lambda}^{m, \delta}(\beta, b, p, n)$ for functions $f \in \mathcal{A}(p, n)$ satisfying

$$
\begin{equation*}
\operatorname{Re}\left\{1-\frac{1}{b}+\frac{1}{b p}\left(1+\frac{z\left(\mathcal{J}_{c, p, \lambda}^{m, \delta} f(z)\right)^{\prime \prime}}{\left(\mathcal{J}_{c, p, \lambda}^{m, \delta} f(z)\right)^{\prime}}\right)\right\}>\beta \tag{9}
\end{equation*}
$$

where $z \in \mathcal{U}, b \in \mathbb{C} \backslash\{0\}, 0 \leq \beta<1$ and $\mathcal{J}_{c, p, \lambda}^{m, \delta} f(z)$ is the linear multiplier operator defined by (4).

Note that $f \in \mathcal{V}_{c, \lambda}^{m, \delta}(\beta, b, p, n)$ if and only if $\frac{1}{p} z f^{\prime}(z) \in \mathcal{S}_{c, \lambda}^{m, \delta}(\beta, b, p, n)$.
Now, let us introduce the class $\mathcal{S}_{c, \lambda}^{m, \delta}(\beta, b, p, n, \mu)$ of functions $f \in \mathcal{A}(p, n)$ satisfying the inequality

$$
\begin{equation*}
\operatorname{Re}\left\{1+\frac{1}{b}\left(\frac{1}{p} \frac{z\left(\frac{1}{1+\mu(p-1)}\left[\mu z\left(\mathcal{J}_{c, p, \lambda}^{m, \delta} f(z)\right)^{\prime}+(1-\mu) \mathcal{J}_{c, p, \lambda}^{m, \delta} f(z)\right]\right)^{\prime}}{\frac{1}{1+\mu(p-1)}\left[\mu z\left(\mathcal{J}_{c, p, \lambda}^{m, \delta} f(z)\right)^{\prime}+(1-\mu) \mathcal{J}_{c, p, \lambda}^{m, \delta} f(z)\right]}-1\right)\right\}>\beta \tag{10}
\end{equation*}
$$

where $z \in \mathcal{U}$ and $\mathcal{J}_{c, p, \lambda}^{m, \delta} f(z)$ is the linear multiplier operator defined by (4) and where (and throughout the paper unless otherwise stated), the parameters $m, n, p, b, c, \delta, \lambda, \beta$ and $\mu$ are constrained as follows:
$m, n, p \in \mathbb{N}, \quad c>-p, \quad b \in \mathbb{C} \backslash\{0\}, \quad \delta>0, \quad \lambda \geq 0, \quad 0 \leq \beta<1$ and $0 \leq \mu<1$.
Remark 2:
(i) $\mathcal{S}_{c, \lambda}^{m, \delta}(\beta, b, p, n, 0)=\mathcal{S}_{c, \lambda}^{m, \delta}(\beta, b, p, n)$
(ii) $\mathcal{S} \mathcal{V}_{c, \lambda}^{m, \delta}(\beta, b, p, n, 1)=\mathcal{V}_{c, \lambda}^{m, \delta}(\beta, b, p, n)$
(iii) $\mathcal{S V}_{c, \lambda}^{0,0}(\beta, b, 1,1, \mu)=\mathcal{S} \mathcal{V}_{c, 0}^{1,0}(\beta, b, 1,1, \mu) \equiv \mathcal{S C}(b, \mu, \beta)$ which is the class defined and studied by Altintaş et al. [2].
(iv) $\mathcal{S} \mathcal{V}_{c, \lambda}^{0,0}(0, b, 1,1,0) \equiv \mathcal{S}(b)$ and $\mathcal{S} \mathcal{V}_{c, \lambda}^{0,0}(0, b, 1,1,1) \equiv \mathcal{C}(b)$ which are the classes studied by Nasr and Aouf [10].
Now we define the class $\mathcal{E}_{c, \lambda}^{m, \delta}(\beta, b, p, n, \mu, \eta)$ for functions $f \in \mathcal{A}(p, n)$ satisfying the nonhomogeneous Cauchy-Euler differential equation

$$
\begin{equation*}
z^{2} \frac{d^{2} \omega}{d z^{2}}+2(1+\eta) z \frac{d \omega}{d z}+\eta(1+\eta) \omega=(p+\eta)(p+1+\eta) g(z) \tag{11}
\end{equation*}
$$

where $\omega=f(z), g(z) \in \mathcal{S}_{c, \lambda}^{m, \delta}(\beta, b, p, n, \mu), \quad \eta>-p(\eta \in \mathbb{R})$ and the other parameters are constrained as above.

The purpose of the present investigation is to obtain coefficient bounds for the classes $\mathcal{S} \mathcal{V}_{c, \lambda}^{m, \delta}(\beta, b, p, n, \mu)$ and $\mathcal{E}_{c, \lambda}^{m, \delta}(\beta, b, p, n, \mu, \eta)$, from which we can also get coefficient bounds for the other mentioned classes.

## 2. Coefficient Inequalities for the Class $\mathcal{S} \mathcal{V}_{c, \lambda}^{m, \delta}(\beta, b, p, n, \mu)$

Theorem 2.1. Let the function $f \in \mathcal{A}(p, n)$ be defined by (1). If the function $f$ belongs to the class $\mathcal{S}_{c, \lambda}^{m, \delta}(\beta, b, p, n, \mu)$, then

$$
\begin{align*}
& \left|a_{p+n}\right| \leq \frac{[1+\mu(p-1)] 2 p^{m+1}|b|(1-\beta)(c+p+n)^{\delta m}}{[1+\mu(p+n-1)] n(c+p)^{\delta m}(p+\lambda n)^{m}}  \tag{12}\\
& \left|a_{k}\right| \leq \frac{[1+\mu(p-1)] 2 p^{m+1}|b|(1-\beta)(c+k)^{\delta m}(n-1)!}{[1+\mu(k-1)](c+p)^{\delta m}[p+\lambda(k-p)]^{m}(k-p)!} \\
& \quad \times \prod_{j=0}^{k-p-n-1}[(n+j)+2 p|b|(1-\beta)] \tag{13}
\end{align*}
$$

for $k \geq p+n+1$
Proof. Define the function $F(z)$ by

$$
\begin{equation*}
F(z)=\frac{1}{1+\mu(p-1)}\left[\mu z\left(\mathcal{J}_{c, p, \lambda}^{m, \delta} f(z)\right)^{\prime}+(1-\mu) \mathcal{J}_{c, p, \lambda}^{m, \delta} f(z)\right] \tag{14}
\end{equation*}
$$

then for $f \in \mathcal{A}(p, n)$, we have

$$
\begin{equation*}
F(z)=z^{p}+\sum_{k=p+n}^{\infty} A_{k} z^{k} \tag{15}
\end{equation*}
$$

where

$$
\begin{align*}
A_{k} & =B_{k, m}(c, p, \lambda, \delta)\left[\frac{1+\mu(k-1)}{1+\mu(p-1)}\right] a_{k} \\
& =\frac{[1+\mu(k-1)](c+p)^{\delta m}[p+\lambda(k-p)]^{m}}{[1+\mu(p-1)] p^{m}(c+k)^{\delta m}} a_{k} \tag{16}
\end{align*}
$$

Thus, from (10) and (14), we get

$$
\operatorname{Re}\left\{1+\frac{1}{b}\left(\frac{1}{p} \frac{z F^{\prime}(z)}{F(z)}-1\right)\right\}>\beta, \quad(z \in \mathcal{U})
$$

Define the function $q(z)$ by

$$
q(z)=\frac{1+\frac{1}{b}\left(\frac{1}{p} \frac{z F^{\prime}(z)}{F(z)}-1\right)-\beta}{1-\beta}, \quad(z \in \mathcal{U})
$$

Hence, $q(z)$ is an analytic function in $\mathcal{U}$ with $q(0)=1$ and $\operatorname{Re}(q(z))>0$. Let $q(z)=$ $1+q_{1} z+q_{2} z^{2}+\ldots$, then we get

$$
\begin{equation*}
1+\frac{1}{b}\left(\frac{1}{p} \frac{z F^{\prime}(z)}{F(z)}-1\right)=(1-\beta)\left(q_{1} z+q_{2} z^{2}++\ldots\right) \tag{17}
\end{equation*}
$$

which is equivalent to

$$
z F^{\prime}(z)-p F(z)=p b(1-\beta) F(z)
$$

Expressing $F(z)$ in its series form as in (15), and the equating coefficients of $z^{k}(k \geq p+n)$, thus (17) implies

$$
(k-p) A_{k}=p b(1-\beta)\left(q_{k-p}+\sum_{e=p+n}^{k-1} A_{e} q_{k-e}\right)
$$

Setting $k=p+n+r \quad\left(r \in \mathbb{N}_{0}\right)$, then

$$
(n+r) A_{p+n+r}=p b(1-\beta)\left(q_{n+r}+\sum_{e=p+n}^{p+n+r-1} A_{e} q_{p+n+r-e}\right)
$$

Since $q(z)$ is a Carathéodory function, then $\left|q_{k}\right| \leq 2(k \in \mathbb{N})$ [4], then we obtain

$$
\left|A_{p+n+r}\right| \leq \frac{2 p|b|(1-\beta)}{n+r}\left(1+\left|A_{p+n}\right|+\ldots+\left|A_{p+n+r-1}\right|\right)
$$

which for $r=0,1,2$ implies

$$
\begin{gathered}
\left|A_{p+n}\right| \leq \frac{2 p|b|(1-\beta)}{n} \\
\left|A_{p+n+1}\right| \leq \frac{2 p|b|(1-\beta)}{n+1}\left(1+\left|A_{p+n}\right|\right) \leq \frac{2 p|b|(1-\beta)(n+2 p|b|(1-\beta))}{n(n+1)},
\end{gathered}
$$

and

$$
\begin{aligned}
\left|A_{p+n+2}\right| & \leq \frac{2 p|b|(1-\beta)}{n+1}\left(1+\left|A_{p+n}\right|+\left|A_{p+n+1}\right|\right) \\
& \leq \frac{2 p|b|(1-\beta)(n+2 p|b|(1-\beta))((n+1)+2 p|b|(1-\beta))}{n(n+1)(n+2)}
\end{aligned}
$$

respectively. Making use of mathematical induction yields

$$
\begin{aligned}
\left|A_{p+n+r}\right| & \leq \frac{2 p|b|(1-\beta)}{n(n+1) \cdots(n+r)} \prod_{j=0}^{r-1}[(n+j)+2 p|b|(1-\beta)] \\
& =\frac{2 p|b|(1-\beta)(n-1)!}{(n+r)!} \prod_{j=0}^{r-1}[(n+j)+2 p|b|(1-\beta)]
\end{aligned}
$$

for $r \geq 1$. So, we have

$$
\begin{equation*}
\left|A_{p+n}\right| \leq \frac{2 p|b|(1-\beta)}{n} \tag{18}
\end{equation*}
$$

and

$$
\begin{equation*}
\left|A_{k}\right| \leq \frac{2 p|b|(1-\beta)(n-1)!}{(k-p)!} \prod_{j=0}^{k-p-n-1}[(n+j)+2 p|b|(1-\beta)] \tag{19}
\end{equation*}
$$

for $k \geq n+p+1$. Hence making use of (16), we readily get the inequalities (12) and (13), and the proof is complete.

By choosing suitable values of the parameters $m, \delta, c, \lambda, \beta, b, p, n$ and $\mu$ in Theorem 2.1, we deduce particular results. Some of these special cases are mentioned in the corollaries below.

Setting $\mu=0$ and $\mu=1$, respectively, in Theorem 2.1, we get

Corollary 2.2. If a function $f(z) \in \mathcal{A}(p, n)$ is in the class $\mathcal{S}_{c, \lambda}^{m, \delta}(\beta, b, p, n)$, then

$$
\begin{gathered}
\left|a_{p+n}\right| \leq \frac{2 p^{m+1}|b|(1-\beta)(c+p+n)^{\delta m}}{n(c+p)^{\delta m}(p+\lambda n)^{m}} \\
\left|a_{k}\right| \leq \frac{2 p^{m+1}|b|(1-\beta)(c+k)^{\delta m}(n-1)!}{(c+p)^{\delta m}[p+\lambda(k-p)]^{m}(k-p)!} \prod_{j=0}^{k-p-n-1}[(n+j)+2 p|b|(1-\beta)]
\end{gathered}
$$

for $k \geq p+n+1$.

Corollary 2.3. If a function $f(z) \in \mathcal{A}(p, n)$ is in the class $\mathcal{V}_{c, \lambda}^{m, \delta}(\beta, b, p, n)$, then

$$
\begin{gathered}
\left|a_{p+n}\right| \leq \frac{2 p^{m+2}|b|(1-\beta)(c+p+n)^{\delta m}}{(p+n)(c+p)^{\delta m}(p+\lambda n)^{m}}, \\
\left|a_{k}\right| \leq \frac{2 p^{m+2}|b|(1-\beta)(c+k)^{\delta m}(n-1)!}{k(c+p)^{\delta m}[p+\lambda(k-p)]^{m}(k-p)!} \prod_{j=0}^{k-p-n-1}[(n+j)+2 p|b|(1-\beta)],
\end{gathered}
$$

for $k \geq p+n+1$.

For $m=1$ and $\lambda=0$, then $\mathcal{J}_{c, p, 0}^{1, \delta} \equiv \mathcal{K}_{c, p}^{\delta}$ and $\mathcal{S}_{c, 0}^{1, \delta}(\beta, b, p, n, \mu) \equiv \mathcal{S} \mathcal{V}_{c}^{\delta}(\beta, b, p, n, \mu)$ which is the class of all functions $f(z) \in \mathcal{A}(p, n)$ satisfying the inequality defined by replacing $\mathcal{K}_{c, p}^{\delta} f(z)$ instead of $\mathcal{J}_{c, p, \lambda}^{m, \delta} f(z)$ in (10).

Corollary 2.4. If a function $f(z) \in \mathcal{A}(p, n)$ is in the class $\mathcal{S V}_{c}^{\delta}(\beta, b, p, n, \mu)$, then

$$
\begin{gathered}
\left|a_{p+n}\right| \leq \frac{[1+\mu(p-1)] 2 p|b|(1-\beta)(c+p+n)^{\delta}}{[1+\mu(p+n-1)] n(c+p)^{\delta}} \\
\left|a_{k}\right| \leq \frac{[1+\mu(p-1)] 2 p|b|(1-\beta)(c+k)^{\delta}(n-1)!}{[1+\mu(k-1)](c+p)^{\delta}(k-p)!} \prod_{j=0}^{k-p-n-1}[(n+j)+2 p|b|(1-\beta)]
\end{gathered}
$$

for $k \geq p+n+1$

Also, for $m=1$ and $\lambda=1$, then $\mathcal{J}_{c, p, 1}^{1, \delta} f(z) \equiv \frac{z}{p}\left(\mathcal{K}_{c, p}^{\delta} f(z)\right)^{\prime}$ and $\mathcal{S} \mathcal{V}_{c, 1}^{1, \delta}(\beta, b, p, n, \mu) \equiv$ $\mathcal{S W}_{c}^{\delta}(\beta, b, p, n, \mu)$ which is the class of all functions $f(z) \in \mathcal{A}(p, n)$ satisfying the inequality defined by replacing $\frac{z}{p}\left(\mathcal{K}_{c, p}^{\delta} f(z)\right)^{\prime}$ instead of $\mathcal{J}_{c, p, \lambda}^{m, \delta} f(z)$ in (10).

Corollary 2.5. If a function $f(z) \in \mathcal{A}(p, n)$ is in the class $\mathcal{S W}_{c}^{\delta}(\beta, b, p, n, \mu)$, then

$$
\begin{gathered}
\left|a_{p+n}\right| \leq \frac{[1+\mu(p-1)] 2 p^{2}|b|(1-\beta)(c+p+n)^{\delta}}{[1+\mu(p+n-1)] n(c+p)^{\delta}(p+n)} \\
\left|a_{k}\right| \leq \frac{[1+\mu(p-1)] 2 p^{2}|b|(1-\beta)(c+k)^{\delta}(n-1)!}{[1+\mu(k-1)](c+p)^{\delta} k(k-p)!} \prod_{j=0}^{k-p-n-1}[(n+j)+2 p|b|(1-\beta)]
\end{gathered}
$$

for $k \geq p+n+1$.

Also if $\mathcal{A} \equiv \mathcal{A}(1,1)$ which is the class of all functions $f(z)=z+\sum_{k=2}^{\infty} a_{k} z^{k}$ that are analytic and univalent in $\mathcal{U}$. So, we have the following known coefficient bounds.

Corollary 2.6. (cf, e.g. Altintaş et al. [2]) If a function $f(z) \in \mathcal{A}$ is in the class $\mathcal{S C}(b, \mu, \beta)$, then

$$
\left|a_{k}\right| \leq \frac{\prod_{j=0}^{k-2}[j+2 p|b|(1-\beta)]}{[1+\mu(k-1)](k-1)!}
$$

for $k \geq 2$.

Corollary 2.7. (cf, e.g. Nasr and Aouf [10]) If a function $f(z) \in \mathcal{A}$ is in the class $\mathcal{S}(b)$, then

$$
\left|a_{k}\right| \leq \frac{\prod_{j=0}^{k-2}(j+2|b|)}{(k-1)!}
$$

for $k \geq 2$.

Corollary 2.8. (cf, e.g. Nasr and Aouf [10]) If a function $f(z) \in \mathcal{A}$ is in the class $\mathcal{C}(b)$, then

$$
\left|a_{k}\right| \leq \frac{\prod_{j=0}^{k-2}(j+2|b|)}{k!}
$$

for $k \geq 2$.

## 3. Coefficient Inequalities for the Class $\mathcal{E}_{c, \lambda}^{m, \delta}(\beta, b, p, n, \mu, \eta)$

Theorem 3.1. Let the function $f \in \mathcal{A}(p, n)$ be defined by (1). If the function $f$ belongs to the class $\mathcal{E}_{c, \lambda}^{m, \delta}(\beta, b, p, n, \mu, \eta)$, then

$$
\begin{align*}
\left|a_{p+n}\right| \leq & \frac{(p+\eta)(p+\eta+1)[1+\mu(p-1)] 2 p^{m+1}|b|(1-\beta)(c+p+n)^{\delta m}}{(p+n+\eta)(p+n+\eta+1)[1+\mu(p+n-1)] n(c+p)^{\delta m}(p+\lambda n)^{m}}  \tag{20}\\
\left|a_{k}\right| \leq & \frac{(p+\eta)(p+\eta+1)[1+\mu(p-1)] 2 p^{m+1}|b|(1-\beta)(c+k)^{\delta m}(n-1)!}{(k+\eta)(k+\eta+1)[1+\mu(k-1)](c+p)^{\delta m}[p+\lambda(k-p)]^{m}(k-p)!} \\
& \times \prod_{j=0}^{k-p-n-1}[(n+j)+2 p|b|(1-\beta)] \tag{21}
\end{align*}
$$

for $k \geq p+n+1$ and $\eta>-p \quad(\eta \in \mathbb{R})$.

Proof. $f(z) \in A(p, n)$ given by (1) and $g(z)=z^{p}+\sum_{k=p+n}^{\infty} b_{k} z^{k} \in \mathcal{S} \mathcal{V}_{c, \lambda}^{m, \delta}(\beta, b, p, n, \mu)$ , then by the Cauchy-Euler differential equation (11), we get

$$
a_{k}=\frac{(p+\eta)(p+\eta+1)}{(k+\eta)(k+\eta+1)} b_{k}
$$

where for $k \geq p+n+1$ and $\eta>-p \quad(\eta \in \mathbb{R})$. Since $b_{k}$ satisfies the inequalities (12) and (13) in Theorem (2.1), then we get readily the inequalities (20) and (21) which completes the proof of the theorem.

Corollary 3.2. Let the function $f \in \mathcal{A}(p, n)$ satisfy the Cauchy-Euler differential equation given by (11) such that $g(z) \in \mathcal{S}_{c, \lambda}^{m, \delta}(\beta, b, p, n)$, then

$$
\begin{aligned}
\left|a_{p+n}\right| \leq & \frac{(p+\eta)(p+\eta+1) 2 p^{m+1}|b|(1-\beta)(c+p+n)^{\delta m}}{(p+n+\eta)(p+n+\eta+1) n(c+p)^{\delta m}(p+\lambda n)^{m}} \\
\left|a_{k}\right| \leq & \frac{(p+\eta)(p+\eta+1) 2 p^{m+1}|b|(1-\beta)(c+k)^{\delta m}(n-1)!}{(k+\eta)(k+\eta+1)(c+p)^{\delta m}[p+\lambda(k-p)]^{m}(k-p)!} \\
& \times \prod_{j=0}^{k-p-n-1}[(n+j)+2 p|b|(1-\beta)]
\end{aligned}
$$

for $k \geq p+n+1$ and $\eta>-p \quad(\eta \in \mathbb{R})$.

Corollary 3.3. Let the function $f \in \mathcal{A}$ satisfy the Cauchy-Euler differential equation given by (11) such that $g(z) \in \mathcal{V}_{c, \lambda}^{m, \delta}(\beta, b, p, n)$, then

$$
\begin{aligned}
\left|a_{p+n}\right| \leq & \frac{(p+\eta)(p+\eta+1) 2 p^{m+2}|b|(1-\beta)(c+p+n)^{\delta m}}{(p+n+\eta)(p+n+\eta+1)(p+n) n(c+p)^{\delta m}(p+\lambda n)^{m}} \\
\left|a_{k}\right| \leq & \frac{(p+\eta)(p+\eta+1) 2 p^{m+2}|b|(1-\beta)(c+k)^{\delta m}(n-1)!}{(k+\eta)(k+\eta+1) k(c+p)^{\delta m}[p+\lambda(k-p)]^{m}(k-p)!} \\
& \times \prod_{j=0}^{k-p-n-1}[(n+j)+2 p|b|(1-\beta)]
\end{aligned}
$$

for $k \geq p+n+1$ and $\eta>-p \quad(p \in \mathbb{R})$.

Corollary 3.4. Let the function $f \in \mathcal{A}$ satisfy the Cauchy-Euler differential equation

$$
z^{2} \frac{d^{2} \omega}{d z^{2}}+2(1+\eta) z \frac{d \omega}{d z}+\eta(1+\eta) \omega=(1+\eta)(2+1+\eta) g(z)
$$

where $\omega=f(z)$ and $g(z) \in \mathcal{S C}(b, \mu, \beta)$, then

$$
\left|a_{k}\right| \leq \frac{(1+\eta)(2+\eta) \prod_{j=0}^{k-2}[j+2 p|b|(1-\beta)]}{(k+\eta)(k+\eta+1)[1+\mu(k-1)](k-p)!}
$$

$$
\text { for } k \geq 2 \text { and } \eta>-1 \quad(\eta \in \mathbb{R})
$$

## References

[1] F.M. Al-Oboudi, On univalent functions defined by a generalized Sălăgean operator. Int. J. Math. Math. Sci., 27 (2004), 1429-1236.
[2] O. Altintaş, H. Irmak, S. Owa and H.M. Srivastava, Coefficient bounds for some families of starlike and convex functions of complex order. Appl. Math. Lett., 20 (2007), 1218-1222.
[3] S.D. Bernardi, Convex and starlike univalent functions. Trans. Amer. Math. Soc., 135 (1969), 429446.
[4] C. Carathéodory, "Uber den variabilitä der Fourierśchen konstanten von possitiven harmonischen funktionen.Rend Circ. Palermo, 32 (1911), 193-217.
[5] A. Ebadian and S. Najafzadeh, Uniformly starlike and convex univalent functions by using certain integral operator. Acta Univ. Apulensis, 20 (2009), 17-23.
[6] A. Ebadian, S. Shams, Z.G. Wang and Y. Sun, A class of multivalent analytic functions involving the generalized Jung-Kim-Srivastava operator.Acta Univ. Apulensis, 18 (2009), 265-277.
[7] M.E. Gordji, D. Alimohammadi and A. Ebadian, Some inequalities of the generalized Bernardi-Libera-Livingston integral operator on univalent functions. J. Ineq. Pure Appl. Math., 10 (2009), issue 4, article 100.
[8] S.M. Khairnar and M. More, On a subclass of multivalent $\beta$-uniformly starlike and convex functions defined by a linear operator. IAENG Int. J. Appl. Math., 39:3, IJAM 3-39-06 (2009).
[9] Y. Komatu, On analytic prolongation of a family of integral operators. Mathematica ( Cluj ), 32(55) (1990), 141-145.
[10] M.A. Nasr and M.K. Aouf, Radius of convexity for the class of starlike functions of complex order. Bull. Fac. Sci. Assiut Univ., A12(1)(1983), 153-159.
[11] R.K. Raina and I.B. Bapna, On the starlikeness and convexity of a certain integral operator. Southeast Asian Bull. Math., 33 (2009), 101-108.
[12] G.S. Sălăgean, Subclasses of univalent functions. Lecture Notes in Math.,Springer-Verlag, 1013 (1983), 362-372.
[13] S. Shams, S.R. Kulkarni and J.M. Jahangiri, Subordination properties of p-valent functions defined by integral operators. Int. J. Math. Math. Sci., Article ID 94572 (2006), 1-3.


[^0]:    *Corresponding author
    E-mail address: amjad@ppu.edu (A. S. Barham)

